FPEe P EREATYRES
SHERMEE A SIPRA BRI HEEF Y b £ OB

100 # 06 * 29 P {75z € R3tihil i
100 # 09 * 13 p {792 § R 1 8
101 # 06 * 27 P {792 € k15 I 38
101 # 12 26 p Fﬁgiifﬁ;*?iﬁ

102 # 02 7 27 p {7 5c § i3 1 i i
102 & 07 7 17 p 7 5c § i3 1 i 3B
107 £ 09 » 18 p {7 5c § i3 L i i
108 & 01 » 08 p {7 5c § i3 L i i
108 & 04 7 09 p 7 5c § i3 L i i
109 & 10 » 06 p 7 5c § i3 L i i
110 & 04 7 06 p F5c 33 I i i
113 107 04 p (50K 1 U6
112 10 7 24 p iF5cé i3 1 3B
11303 7 12 p ircé ki3 0 i B
114 & 02 7 25 p i7c§ ki3 & i B

>
&
N

!
)

SHEREE A S (T R SR AT L L L
P RE(E) RD B ERI BT ST RMEE L SR S
SHEER Y b E R RB I ) (T [ AR -

Z i AF A L%‘fﬁFF’*B’* AT ¥R %ﬁf’%x‘# B e | TR 1R E‘,i“ ("7~ §
) 7R (F) F2TFLAAMTREEDNY G gPT A T
FE2E ~%ﬁaﬁi’&ﬁﬁé%’w(”‘f?s’?ﬁ%%z\) o CEa ”Wﬁﬁiﬁv
FAEziag h (- 848) v 2 B EER (4)’ ’*F‘Fﬁf@%'ﬁ’fﬁﬁﬂr—?\—
Rz - FHFEYER (F) 2 RER ()R - H - TREFYERZ
ip b i B E R LR X

HERAp 2582 ﬁi’fﬁvg?)’ifﬂﬂ‘;‘_ FFEA TR B SMFRET TSR o

>
>

»
>

= % %ﬁ(%‘§ﬁ>~$“ & (o §i>ﬁ§%i%i}(% §ﬁ>wFi%
¥HEE (F) &% F‘@(*)‘H‘% "LERBERELP mi | FHL B E
sl AR r”-“ﬁ@#aﬁvi g, idaee

FriE Y GRERARR AT
VYR R () BR S RACER ($) T S EA R
4
%r

!

33 5-“%%%%} ,._,J 4:’ F o d ,.;Tf" /J< hﬁ_ﬂ}:r,p;?w\ gvlj %pka;?;% %E_
He@ERFANTA8% AGH Bk AUUCRIELE - B & BB IX
22 ¥ ko Bl P RS ‘%‘ﬁiﬁﬂ' FIivgE o
:\@ﬁgvﬂﬁ(4)ﬁ%i’§4@%£%%(%)Eiﬁﬁi%’£$%€
Poude e ’%_o 4Aﬁ5@,,.+ 2 ¥ ’?‘i‘ R el N S L i;&,&/]ﬁw LI o
B AR EERS LR 3-,?*“ FRA TP AT BI N R A RS
G EEF S PEERE

iﬁ;%%ﬁ%¢’@%?%?€:%%ﬁﬁ ARSI
AL AL R R R B 2 T -

FA0E AVREREGRERFRILE MGFREPTLOFF N> L@ ko

i

[3X)
&

!
5



LY

ID' Ll J,}

SERMEE A SRR BRFEF L LR USPHEL

Bitp g 114&2% 250p
45| on] R B g ok iR
TA |BFBEZHIFARF Y20 7,000 =
17 (& 4p§ &m]) L B
5,000 =
B hpsge N & :
1o mfbrd 3
TC 2%@@& :}stﬁfﬂﬁ%'éi 3,000 =
¥ 1. #o mg@m—F 30
PR 2. B +g; 2o
" [ EEE if‘ - 500 =
3. E‘:st H' \::.SFE_
4. % FW‘«?’M e I e
1 [ sgjisd—omm
2 B[ mEE—F T (FRERE i
TE 3 ?I—J_ %KF?\)A?T '15‘5&%‘\']—7 }3% 200
4. F%’lﬁ 7 E N3 &
.2 & x%,,és
LA |2.% Fplsk 2900 A~ 21 (B4 3,000 =
34245 ¢ 250 A 12
LB |¥FZHw 2t 84 Cla 2,000 =
i EHFRTL R AE P TE A E Cla _
we | LC N TR ;N 1,000 =
EBERT R AEATTE L EB2 & )
Lb Bt B2 Bl & 500
FEK TR AR TE 4 E Bl & _
LE A B A2 200
e AR R R 2 BB iPAS 2000 =

75 PR

9y 4 ?fui Gl




